1. sin(90°-A) = - 4 o, tan A 2] ZE& Fstodzt (HF,0°<A4 < 90°)
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tanA =1%o, (2+sinA)(2-cosA)
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The F0l EE B x4y o e FoIH?

2te sin cos ‘ tan

14° 0.2419 0.9703 0.2493
15° 0.2588 0.,9859 0.2679
16° 0,2766 0,9613 0,2867

sin x = 0.2766 , tany = 0.2493

@ 28° @ 29° 3 30° @ 31° ® 32°
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oh5 17 2] AABC A
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(Af2tulol #)

z sin = cos T tan z
43° | 0.6820 0.7314 0.9325
44° | 0.6947 0.7193 0.9657
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724

? 6.947 3 7.071 @ 7.193

3 7.314



8. cosA=- ¢ 20sinAxtanA °] F-27(F, 0° <A <90°)
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@® CD =sin40°

@ BD =1--cos40°
——  sin20°
AC =

® sin 40 °
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@ ACAD = §sin40°>< (14 cos40°)

1
® ACAO = isin40°




11. g5 F Aol &2 Ae 25 1=17 (A9 27)

@ sin?30° + cos?45° = 3

@ sin0°xcos30°+ cos60° X tan45°

® cos0°xsin90° —tan45° x cos60° =

1
1
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@ sin60°xsin0°+ cos30°x cos0° =1

® sin90° X cos 60° — cos 90 ° X tan 60 °
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(1) sin®60° x sin? 30 °
(2) cos45° + tan 60 ° x sin 45 °
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16. o3 2H2 vkxEo] 1 9 Yoltt. sinx 2 cosx , tan x & UEFH+=
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@O0A ©OB ®OC ®®OD @ AB
®AD ®BC ©CD

@ sinx = AB cosx = OD tanx = OA
@ sinx = AB cosx = OA tanx = AB
® sinx = CD cosx = OD tanx = AB
@ sinx = CD cosx = OA tanx = OB

® sinx=BC cosx = OC tanx = AB
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The I A7 O] ghe 25 WA A2 7EK) Lek Zolct, Abzpu el
ghe vk Lreb 2 1olel A BE 2
Zte sin cos tan
10° 0,1736 0.9848 0,1763
20° 0,3420 0.9397 0.3640
35° 0.5736 0.8192 0,7002
45° 0,7071 0.7071 1.0000
50° 0,7660 0.6428 1.1918
70° 0.9397 0.3420 2.7475
89° 0.9998 0.0175 57,2900
.
1271
@ sin20° = 0.9848 O cos45° =0.7071
© tanb0° = 0.6428 ® 2sin10° = 0.3420
1
@) 500870020.8192 ® 3tan45°=3

OO a6 0.6 @®o o 66 6
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@ c0s30° x tan 30° 4 sin 60° X tan 30° = 2

cos 60°
sin 30° =3
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@ sin30° — sin 60° =

tan 60° x tan 45° = V6
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@ 1-tan35° @ 1+sin35° ® 1-cos35°

@ 1-sin35° 3 1+ cos35H°



20. x of B3t o|AHAA] 2x2 — 11lx +a = 0 2] T 29] sin90° + cos 0°
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@ sin45° = cos45°

@ cos48° > cos38°
@ tan35° < tan40°® @ sin37° < cos37°
B sin56° < cos 56 °
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